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I ’n mwn: explication of Ty #4 in T:X — prIn MmwIa prinn MW (dispute between DMIN/V™ in re: pran mMwIa 1P (17))
a if amw gored, pushed, bit, jumped or kicked in 9" - %4 pn
b if amw did any of the above in pran mw:
i v™-full damages
1 argument: if 530 19, which are 1”772 M09, pay full damages in pran mwv,,
2 then:v"p that 17p, which pays %2 in 7”7, should pay full in pran mwn
ii  ©non-% damages
1 counter: rule of P133 NYRY P00 X2 1T — (i.e. the 1IN cannot be more severe than the %p)
2 response of v judges Y0 1P (not 17PN 19p) —just as YA is W1, so is 1P
(a) comeback: 7 again
II  Discussion of ¥7 - and why v" apparently rejects it
a  Challenge (to v™) — v1is found in the nmn (v. 1 — 01 should have been out of the camp for 14 days; 7 limits to 7)
b Answer: v accepts 1 when it doesn’t render the v"p useless:
i in case of o»n, without 1"p, we wouldn’t know that she must be out of the camp at all
ii  in our case, without the 1"p, the M is already 1"n 27’n
¢ response (o'nn): we already know that n»n would be out of the camp from p*n 23om
i defense (v”): that phrase teaches 17
ii ~ Response (opon): v. 2 teaches about 00 being kept out for 7 days already
1 Defense (v”): v. 2 teaches that v7 applies everywhere, isn’t limited to here due to nwn 72>
d  Tangential discussions: identifying n'®in who reject 17 in all circumstances (vv. 3-9)
III  Revisiting calculus between 17p and %M v
a  Reduction ad absurdum: Y3 1w should be 9”772 27n —1"p from 1p:
i If:1p, which is %p (only liable for Y2 damages in pr1n mw1), nonetheless carries liability in 9777
it~ Then: %M v, which are mnn (liable for full damages in pran mwA), should certainly carry liability in 9”7
1 Answer: v. 10 limits liability to prn mwA
2 Comeback: goal of v'p was to generate liability for Y2 damages for 1112 93 1v; Answer: v. 11 limits %2 pt to 17p
b Reduction ad absurdum: 531 1» should be liable for ¥4 damages in pran mw3;V"p from 17p
i If:1p, which is 1mn (liable for damages in 1”m), is only liable for %2 damages in pran mwn
it Then: % v, which are %p (exempt from damages in 7"n7), should only pay 2 damages in pran mw
1 Answer: end of v. 10 implies full payment
¢ Reduction ad absurdum: 19p should be exempt 1”113; vp from %M v
i Answer: end of v. 11 implies %2 payment in all cases — 17 or 1" (jany ")
d  Reduction ad absurdum: people should be liable for 101 (if they killed someone) —1"p from M
i Answer: v. 12 implies that only a 1m(’s owner) can be assessed with 1912
e  Reduction ad absurdum: 17 should be liable for 4 extra payments (naw ,n91 ,nwa ,7x); 1"p from DR
i Answer: v. 13 limits payment to battery (o)
IV Related discussion: is there 9312 19137 (e. g. 1w trampled baby to death in pr1n 78N —17p3 or does lack of prnY naa distinguish?)
a  Support from ruling of v - in such a case he finds owner liable for full 1913 — even if on
i reason: follows 3"n» who finds on liable for %2 9913 and applies v'p from %31 to include 1913 = Y172 9910 W
1 challenge: perhaps his 1"p is from Y31 ’pn
2 block: any attempt to use 931 ’p1 to include 1912 has a block (nTR ,0995 ;)Y ,WR) — including Y7 itself

www.dafyomivicc.org 22 © Yitzchak Etshalom 2016




